(AL 1)

BARKS

T-IERER /7% ERIBMNR (B1T)
1B E KIS ] [w] [n] [Cn] [ O] e [COn] [ond o [ [ . I B . [T
oM ] | v ] | [ ]
BARE
™
[[TM ] [[TM ] [ TM ] [ TM ] [[TM ] [[TM ] [[TM ] H |TM|H|TM|H|TM|H|TM| ™
DR L] AW SEL 118 128 158 12 38 5% 18 9% 138 148 178 198 218 WwH
[tz BHAZ ¥ 3BKH ¥4 #P #P #P #P #P #P #P #P #P #P #P #P #P F1EKH
A (3A) (3R )
<RH>
e £ FE
E&7—7IL
— |[m—hiEEr—71
—— |7TRJERER NTT 3.4kHz
EEE Caw ] || Cav ] || o] M F——
LCD ﬁﬁ:ﬁrzjb,{ KAWL Zi 1 Gf' 1 85' 20_%‘ _\IJ.IE 1173} N
¥ 2EK# #F #F #F #F fv78  BIEK®
N [#EEREEEPVPNER (A ) i
ONUw | AEHBRIEEE(LEA—xur )

RTR |IL—%—

oTGW  [959FF—byz4
PLC  [7m¥597'm viavhn-5
™ |FLA—%
NAS |#yk7—HHDD
COT  |AHARIN-T

VAT LENRN (BEER)




